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1. BER R



HERERXRQOQ

T & 2 Al i Al p3a) % BifI #H = i3]
ERLIT
{EHIT HEE| () F—T m3 63. 8
INRE m3 5.2
WET
HEERT TEEIE 38 B% FAPRCAR &5 m?2 300.0
Y- m?2 24,7
TA77IEREE m?2 90.0
BEY S5 v—5 2 (RC-40)
TAIZMMEEE T TEiRiE t=15cm m? 6.3
BEAERERAR (RM-30)
LEREE t=10cm m?2 18.8
BEHAMET7TROY
HE t=5cm m?2 57.0
BAEZRAETAY
=E t=bcm m?2 414.8
WY -MEET
vh)-MEEERR =250 m?2 24.7
Y- Eg AR gH(¥4. 5-6. 5-20 m3 6.2
PR AR m?2 24.5
BANERERA m?2 25.0
TEiRHE t=150 m3 3.8
V. 31.0
3 LAt44n - D22 L[=900 kg 84.8
. 9.0
Fa CAFH44n - D22 1L=1000 kg 27.4
V. 0.0
AN - D29 L=700 kg 0.0
B m?2 6.6
I Y DIFhER m2 51
avo)—4k gh(¥4. 5-6. 5-20 m3 8.9
m2 16.5
43 D6 (100 x 100) kg 49.5
k5 D 13 (200 x 200) kg 454.9
IR kAR D13 kg 112.5
X 0.0
4T - @28 L=700 kg 0.0
. 30.0
" @25 L=700 kg 80.9
FIT— D13 & 60.0
V. 16.0
2 ARIN— D13 L=400 kg 62. 1
FryJ & 0. 000
JEA Bt m3 0.019
B ik t=20 m?2 0. 000
B #th 44 t=10 m3 0. 045
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T & 2 Al A Al y3i) 1% =X va # = i3]
XEHRT
XE#ET AR X ER BHEEE W=15cm m 25. 1 HiIRERE
m 30.5 SV AR
&t m 55.6
I35
B4 W=45cm m 0.0
=T
B =R W=45cm m 6.1
BEZEEE W=45cm m 33.0
B &R W=15cm m 0.0 EER
B W=30cm m 8.0 feE
EEXRH (B
SUED) m 0.0 15cmi &
EIREREH (B
5mt, M m 6.7 15cmi &
FREH (BEE)
D) m 9.2 15cmifaE
EEXF 50 m 0.0 15cmifa e
BEMRET TAITMMEREERR t=<10""
BEYRELT SRR EREE L WS m?2 414.8
/)
BHE m3 41.5
ShAE R TR FAIZV MRS RR t<15"| m 49.0
BEERFIRE m3 0.113
EfRNET Bk TAI7VH R m3 1.5




2. EiE T



(A). #% & £ i £
fii il i il H ¥ HiZ | ¥ & it
T HEE (1) d—7 Ry m?® 63. 8
N 1) m?® 5.2




(B)HEHI T

HERIT (A —THEHD

B A it T &
WiER | F | R | wEE| Ty | U

29 + 0.000 1.7

29 + 15.000 15.000 1.7 1.70 255 11.0x0.15=1.7
29 + 19.000 4.000 20 1.85 1.4 134%x0.15=20
30 + 0.000 1.000 2.2 210 2.1 144x0.15=2.2
30 + 1.000 1.000 2.3 2.25 2.3 15.6 X0.15=2.3
30 + 1.440 0.440 2.3 2.30 1.0 15.0x0.15=2.3
30 + 10.000 8.560 2.3 2.30 19.7 n

30 + 12.500 2.500 2.3 2.30 5.8 "

& 32.500 63.8




HEH T

HEEIT (hERAE)
& PRk (L) HAI(E8) EE
MrEiE | T 19 it | MEE | FY i &
29 + 0000 0.1 0.1
29 + 15.000 15.000 0.1 0.10 1.5 0.1 0.10 1.5]0.5x0.2=0.10
£14%x02=03
29 + 19.000 4.000 0.3 0.20 0.8 0.4 0.25 1.0 £20x02=04
30 + 0.000 1.000 0.0 0.15 0.2 0.0 0.20 0.2
i 20.000 2.5 2.7
ERGE 5.2



00¢=1

[LEEE =

051=3 HEF<TL—F

009

061
66

0002

yf)

1

e
VP U

005







(A). B & £ 3 &
¥ &
fil Gl il 2l psih & FAL fEHEES (NO. 29~N0. 30+10) 4 XA (59 DT RRER) - i
SEET | BEERH | UGB M | AW E BEET |0 hR| I B | 2AEE !
EEEE(R T
N 38 % FIPRCRR S m? 300. 0 300. 0
V)Y - M m? 24. 7 24. 7
T A7 7V M m? 90. 0 90. 0
7277V MREE T
BAEZ 7 v —F 2 (RC-40)
NEES: t=15cm m? 6.3 6.3
AR R R (RM-30)

B t=10cm m? 18.8 18.8

BAMRIE T Ao
= t=5cm m* 57.0 57.0

HABRIET Ay
#JE t=5cm m* 324. 8 90. 0 414. 8

ay))-MEE T
) ) - MEREERR t=250 m* 24. 7 24. 7
=VVARIN %S Hh 154, 5-6. 5-20 m’ 6.2 6.2
PR m? 24.5 24.5
m? 25.0 25.0
T A FRAR SRR =150 m’ 3.8 3.8
VN 31 31
TN - D22  1=900 kg 84.8 84.8
/N 9 9
A CAHAN = D22 1=1000 kg 27.4 27. 4
N 0
BAN = D29 L=700 kg 0.0
T P m? 1.3 5.3 6.6
ERUEeIET

a7 J—h Hh 154, 5-6. 5-20 m’ 8.9 8.9
m? 16.5 16.5
s D6 (100X 100) kg 49.5 49.5
B D13 (200 X 200) ke 454. 9 454. 9
fHTRER D13 kg 112.5 112.5
i 0
B UTN - 628 L=700 kg 0.0
i 4 26 30
I 625 L=700 ke 10. 8 70. 1 80. 9
F T — D13 1A 8 52 60
N 16 16
7 A N— D13 L=400 kg 6.4 55. 7 62. 1
Xy 18 0. 000
HA B #if m® 0. 0002 0.015 0. 002 0. 002 0.019
H AR t=20 m? 0. 000
H Hikt t=10 m’ 0. 042 0. 003 0. 045




(B). B E(NO.29~N0.30+10)
(1). FEI(RE)

TFAI7ILNEGEET
B S it RE t=50 5
g I 15 o & L] I 15 m 15

29 + 0.000 11.00
29 + 15.000 15.000 11.00 11.00 165.0 NO.29|Z#¢°
29 + 15.000 10.00
30 + 0.000 5.000 10.00 10.00 50.0
30 + 10.000 10.000 10.00 10.00 100.0

INEF 315.0
EIAER(E) 4.1
EHIAENR) 5.7

E 30.000 3248




(2). SHE T (IREEIE)

TBEEEIE
A A et PRCHiZ=hit &f fEE
5 T | BB T | BB
29 + 0.000 10.00
30 + 0.000 20.000 10.00 10.00 200.0
30 + 10.000 10.000 10.00 10.00 100.0 NO.30|Z#E9"
H 30.000 300.0




(3). aVV)—EHET
1. A9 —hEEEEQV) - MEERR)

AVH - R AR (AV))—MEREERR)
B A it i & 5
& E 15 m & LB E 15 m &
29 + 0.000 0.51 0.48
29 + 15.000 15.000 0.51 0.51 7.7 0.48 0.48 7.2 NO.29|Z#¥
ING 1.7 1.2
A ER 4.1 57| 7524-4—Iz&3
i 15.000 11.8 129 EABEEFT=247
11.8 X 0.25= 3.0 12.9 X 0.25= 32 KEHBE=62
2. IREEER B

A= 0493 X 15.00 X 2+(4.10M+5.70™)-(4.30+4.13) X 0.01
= 24506 m?2



3. TIERiE

TREREE t=150

B izt 7 E & e
& E 1 m & g E 1 m &
29 + 0.000 0.52 0.49
29 + 15.000 15.000 0.52 0.52 7.8 0.49 0.49 7.4 NO.29|Z#3°
INET 7.8 1.4
4 A ENER 4.1 57| 77z4-4—I2kB
B #hizfx -4.30%0.01= 0.0 -413%0.01= 0.0
g 15.000 11.9 13.1] EHBEEET=250
11.9%0.15= 1.8 13.1 X 0.15= 20 EHEBET=38




4. RUATEA 73— (PRChR&E D #EHT)
FZHEER (NO.29~N0.29+15) L= 15.00 m
PRCHR 17°AvY 54 D22 L=900@1.00
X kEH
N= 15.0/5X5X 2 — 30 A&
;N kg/m
W= 30x%0.9 x3.04 — 82.080 kg
#5AER D22 L=1000 (900)@1000
1 L=900 N=1
" L=1000 N=4
A4 L=1000 N=5
=900 N=1
kg/m
W= (090 X 1) x3.04 = 2.736 kg
L=1000 N=9
kg/m
W= (1.00 x 9) x3.04 = 27.360 kg
BEIEAEE
L= 900
N= 30+1 = 31 K
W= 82080 + 2.736 _ 84.816 kg
L=1000
N= 4+5 — 9 A
W= = 27.360 kg
5. Bl
x b
al (&) = ( 1.684 + 2.310) x 0.25 = 0.999
& AT y.t =)
a2(ufs B ih) = 0.503 X 1 X 2 %0.25 — 0.252
& AT yb
a3 (fZiRBi#h) = 0.503 X 0 X 2% 0.25 = 0.000
A=al~a3= 1.2505 m2




6. £ D6mm

EAEER
74 V¥ =l
A= 0.30x%5.00 % 3 X2 = 9.00 m2
m2 kg/m2

W= 9.00x 3.00 = 27.00 kg
AR
al(Z )= 0.30 x 1.30+1/2 X (0.30+0.50) X 0.90+1/2 X (0.50+1.233) X 2.015

+1/2%x1233%0.712 — 2935 m?2

a2( )= 1/2x (0.30+0.40) X 0.70+1/2 X (0.40+1.30) X 2.20+1/2 X (1.30 + 1.775) X 1.002
+1/2% 1.775% 1.025

= 4.565 m?2
m2 kg/m2
W= 7500 x 3.00 = 22.50 kg
BREEEAMSET
A= 9.000+7.500 = 16.500 m2
W= —
27.000+22.500 = 49.500 kg
7. fH5EEXFH D13
SAEER
ke/m K yik ]
W= 9.80x0.995x% 3 x 1.5 X2 = 87.759 kg
&AM BB
V. N kg/m
W= (4.20+4.10) x 3 X 0.995 = 24.776 kg

aft w=

87.7159 + 24776 112.535 kg
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1. ~TEE

2. BHiEEE

L=

3. AT )L/N—
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30 350 .
435 200 . 200 435
 EABMH
A | 7
ﬂ\ /{ $25x700
8' X 7
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o 7 N / 7
3 8 1 / ST = 1 5) 7 g S e il
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KN \/
\ / \ BEERA Uk
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FEE
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: 700 ,
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435 200 . 213 . 200 43.5
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F17-+DI3 it
$25x700
= //
5 5
=) | [ —
| — L il J
32 / 8 a
o 4 E N 9 &BazRN—DI3
[=400
; L T | ]
g | | -
=y
E13i o
. X 1 X
0.503 2 = 1.006 m
¢ 25 L=700
A HAT ot
X X
2 1 2 = 4 K
N kg/m
4 X 0.700 X 3.85

= 10.780 kg




4. Fz7— D13

& &Fr
N= 4 x 1
5. /0X/\— D13 L=400
K &
N= 8 X 1
;N
L= 16 %X 0.400
kg/m
W= 6.400 X 0.995
6. ;XA Bh#f
V= 0.040 x 0.006 x

vt =]
X2

=a
x2

HihiE R
1.006

8 &

16 &

6.400 m

6.368 kg

0.0002 m3
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1. ~TEE

ZEEE
: 493 10,
|96 38100=300 _ 97
: #HoaskAs D13 £=9.80
AN WA SN-1 8
s/ ||
Oi | %L_ 6% o B
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@1000 L=900
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W 10
. 00 @100 97
#IA LR 1 2.
sk D13
SEA B
PRCHR t=180
44806 //
g ' ;ﬁ%
[ 8 | A, LSS e
8 m\o' Z |l = — — 1 N ﬁ
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@1000 L=1000
2. BHIEER
y =] (EIAER)
L= 15.00 x2 +(413+43)
= 38.430 m
3. A B#haf
Hih it &
V= 004x 0010x 38430 _ 0.015 m3
4. Bih#f t=10
Hihit &
V= 0.110x  0010x  38.430 _

0.042 m3
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V) —hMEET
L2 4/3— D22
ZEEEFHi

500 |

4@1000=4000

NO. 30

R LFEA/8— D22

0=1000 N=4
0= 900 N=1

AN

L2 4/8— D22
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1500 =
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(D). 4 TXAI(FYDIThRER)

(1) SHET

Q Q
QX\QS QX\'],-%
\\Q'rb \\QAQ’
2000 500
500 1500
B 1550
(t=5cmi2 %)
gl =8 g
ot !
‘s '\\ 2 8
=3 &= o
i = FTYDFE (FLFvRR) LEBE 2
e I

] ‘ _

‘ TE® 2

o L

[167]
(t=15cmia &)
P <
rl&X\Q- @X\‘V
- N
L 2000 500 |
L 500 1500 |
1550
(t=5cmi &)

8 =& g
‘ !
1 re) )

o S R g

& - FTYDIHIE (RS o

8 = rEms =

I e ;
x .
TR®H 2
5 |
¥
EE
946 167]
(t=15cmi &)

HEERT

A= RE@EELRELC

3. TRRKHE (t=150)
A= 0167 x THER3795

4. FEIREE (t+=100)
A= 050 x T¥ER3746

5. & (t= 50)
A= 155 x T9ER3g7g

6. &E (t= 50)
A= 950 x T¥EER3600

90.000 m2

6.338 m2

18.830 m2

57.009 m2

90.000 m2
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(2). TYDIFhR

C—C s1:20
ERIERIAIR
2000 500
| 500 1500 |
100 | 96200=1800 100
S : k i%
= bt B e
FOAF 5 A 13—D22
21000 L=1000
& B r B
P R CHR t=180 B
E-—lLi—h LERE
. TRERmE TR®E
D—D s=1:20
FRIERIBIE
2000 500
L 500 1500 J
100 | 98200=1800 100
S48 013(200% 200) SRERRYIET t=100
g I — e B Sl
® B ® B
avy)— g " B
s LERE
TR
ik A
R
al (3i#R)= (3.845 + 5.00 + 2.00 + 2.00) X 0.15 X 2 — 3.854
a2 (i ER&5AHR)= (0.394 + 1.151) X 0.15 — 0.232
a3 (2cmEXZEER)= (4.711 + 500 + 0.50 + 0.50 ) X 0.02 X 2 _ 0.428
ad (1 #&AER)= (1.345 + 1.996 ) x 0.02 = 0.067
a5(UN#EE#)={1/2 x (0.15+0.18 )x 1.50 + 0.20X0.50 } x 2 _ 0.695
A=al~a5 = 5.276 m2
aV9)—k
ZRIE EE B
L= (1.052+4.454+5.00+0.946 X 2) _ 12,308
AR R
L= (1.739+4.454+500+0.946 X 2) _ 13.085
v1(Z )= {1/2x( 0.15+0.18) x 1.50+0.20 X 0.50} X 12.398 4308
v2 (D= {1/2x(0.15+0.18) x 1.50+0.20 X 0.50} X 13.085 _ 4547
V=vl~vy2 = 8.855 m3
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SKE5H D13(200x200) (2.00X4.00 79.6"%/4)

kg
MHBYEE= 79.6 / (2.00%4.00)

M = 360 x 1.80 x 2

@ = 3.40 x 1.80 x 2

@ = 1/2x(3.80 + 4.80) X 1.80 X 2
@ = 1/2x(0.60 + 1.40) X 1.80

® = 1/2%(1.40 +2.20) X 1.80

kg/m
W= 45.720 X 9.95

9.950 kg/m

12.960
12.240
15.480
1.800
3.240
45.720 m2

454914 kg
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(3). UR#ia B ih

1. ~TEE

YDA (BUBHT) ¥+ Y DR (ST
[ 700 =~
I 350 B 350 |
43.5 200 213 200 435
100
48013
3 (200 x 200)
248013 6 EAB [ o
(200 % 200) J _ HAHINN—
‘ Wi f $25x 700
2 = =
Sl wl |
R~ l =y -
é & o s ¥ > [ T % -] b
= 0099
- () \
Mg <A > b
yaR8=013 /S o TRE®E t=100
e 100 -
350 30 7
48.5 200 213 _ 200 43.5
100
avy— M 3 Y DR
£=250 L A B 548013
6| | EABMH (200 x 200)
AT )Ls—
_ BAAED6 y A $25%700
gl — =
¥ ¥ - [=3
3] 3 i / ] . Lo
3 '_l—{ / N N Tl = .i; La .= ] = - - . = = o od “,\’ 3
el 8 4 ] e
Yy A §
o \
. 9000 19060
\ BEERA b \
HRRADI / ’,»"ﬁ?_o g \FEBE t=100
2. BihiER
L= 1.684+2310+2.00 x 2
= 7.994 m
3. Y9I )L/N— ¢25 L=700
N=5+7+7 X 2
= 26 X

;N kg/m

W= 26 X 0.700 X 3.85

= 70.070 kg




4. Fx7— D13

1@ o=
N=2 X (5+7+7x%X 2)

= 52 {&
5. 70X/\— D13 L=400
YN V¥ =]
L=8 x(1.30+1.90 + 1.90 x 2) = 56.000 m
kg/m
W= 56.000 X 0.995 = 55.720 kg

6. JEA B #thaf

V= 0.040 x 0.006 x 7.994 = 0.002 m3




(4). ZEEHHith

1. ~THEE

2000
500 1500
g ol S —9__ 8 wmrsny
2 =] Be g
A iH | EABH
2. BHEE
kA
L= 2.000 x 2 = 4.000 m
3. XA BHh#
V= 004 x 0010 X 4.000 — 0.002 m3
4. Bih#t t=10
A

V= {1/2%(0.06+0.09) X 1.50+0.110 X 0.50}x 0.010 X 2

0.003 m3
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4. XHERE T



(A). B & £ 3t &
Fii bl #m bl H ¥ AL R i B
X EHR T Ve X R
HfgHt W=15cm m 25. 1 |HfREE LR
I m 30.5 |FMAlHR
m 55.

v77

H a8 W=45cm m 0.

152 1k

H =R W=45cm m 6.

FEWr A8

F 4 325) W=45cm m 33.

H AR W=15cm m 0.0 |FHiEf

H AR W=30cm m 8. I
115=6. 25m

TR (EE) Smb D m 0. N=0
1.15=6. 66m

TR BT Smb D m 6. N=1
.15=9. 15m

FERRE (BE/) 5mb D m 9. N=1
[.15=18. 57

ST 50 m 0. N=0




B). X B # T # & x (1)

ERIRF R (BBERW=15cm)

S AR(B B EHHW=15cm)

€75 (BBER W=45cm)

A8 (B B3R W=45cm)

B pil| =1 ER &5 pil| = ER B Hl = ERE 55 pil| = ER pil| ER
29 29 +17.3
yd ik ~29 +16.7 14.7 as) ~30 +0.3 33.0
" 7
7 a "
" 17 7
29
174 " ~29 + 143 15.8
29
" ~29 +125 12.4
=]
"
"
"
29
" ~29 +13.0 12.7
a8 & 25.1 a8 i 305 a8 & 0.0 & i 33.0 =) 0.0




X BH & T % 8 £ 2
=g (BBEH W=45cm) EEE (BB W=15cm) {BEHR (AEHEE W=30cm) KH-EBABEER) KE-AI(BEELR)
EE Al = ER B55 B:| =1 ER B Al =1 ER p:(l =1 ER BE5 Al =1 EE
30 +1.7
yd y =] y:d ~30 +9.2 40 i
29 +2.7
" " " ~29 +78 1.0
29 + 125
" 6.1 a
1/}
30 +1.8
y =] " ~30 + 9.3 40
n”
= g 6.1 = 0.0 = B 8.0 = H 0.0 = B 1.0




X B £ T % & & 3)

XE-BEE(AEER) XF-50(FE B ER)
p:[l =1 ER &= pil] = ER &= B: | =1 EE
29 +2.7
~29 +78 10| %
= B 1.0 & B 0.0 & E =1 =1 B




5. MEEfiE L



SR T

(A). % & £ 5t %

il Gl Al bl jsih ¥ HAL | & T
TAT7W MR t=10"
REYEM R T | S L T T A m? 414. 8
/A
A m?® 41.5
B AL R BT T TAT7V MR £ < 15" m 49. 0
EEERIE T m 3 0.113
TERLEL T O AL T AT 7V bk m® 41.5




(B)EHEE AR R W ERL

SHERRERYIEL
Al A iy =100 &
= I m fa & I m fE
29 + 0.000 11.0
29 + 15.000 15.000 11.0 11.00 165.0 NO.29|Z#3
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